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4x7p=4xTxp=28p
~4px7p = (4x7)x(px p) = -28p"
~4px7pg = (~4x7)(px pq) = -28p’q
4p’x-3p = (4x=3)(p'xp) = -12p*
4px0 = (4x0)(p) =0
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Area of rectangle

Area of rectangle
Area of rectangle

Area of rectangle

= length x breadth
= pxq=pq 5q. units

= length x breadth

= 10mxSn = (10x5) (m>xn) = SOmn sq. units

= length x breadth

=202 x5y =(20x5)(x* x?) = 100x°)* 5q. units
= length x breadth

= 4xx3¢ = (4x3)(xxx7) = 124° sq. units
=length x breadth

= 3mnxdnp = (3x4)(mnxnp) = 12mn’p sq. units
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Volume of rectangular box = length x breadth x height
= Sax3a’ x7a" = (5x3x7)(axa’ xa*)
05a” cubic units.
ngth x breadth x height
= 2pxdgx8r=(2x4x8)(pxgxr)
par cubic units
Volume of rectangular box = length x breadth x height
= ayx2ey 27 = (1x2x2) (w0 e y ey x )
= 4x*y* cubic units
Volume of rectangular box = length x breadth x height
= ax2bx3c= (1x2x3)(axbxc) = 6abe cubic units

Volume of rectangular box
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ayxyexor= xxaxyxyxaxz = £y'7

ax(-a*)xa’ = (~1)(axa*xa’) = -a*

2xdyx8y? 16y =(2x4x8x16)(yx ' x ') = 1024y*
ax2bx3cx6abe =(1x2x3x6)(axbxcxabe) = 36a’b’c*
mx=mnxmnp = (1) (mxmxmxnxnx p) = ~mln’p




